Model Prediction (XX6)
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XX6: ['LfN', 'NdN', "TsN', 'tgtLfN', '‘prunLfN’]
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XX6: ['LfN', 'LFNT"', "TSN', "TSNT']
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XX6: ['LfA", 'peakTgtLAI']
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XX6 (plot by DAT)
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Days After Budding

XX6 TsN1 (plot by DAT)
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Days After Budding

XX6 TsN2 (plot by DAT)
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Days After Budding

XX6 TsN3 (plot by DAT)
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Days After Budding

XX6 TsN4 (plot by DAT)

! Harve

120 4 Turn Color

100 -
80 A --0

-@
60 - --®
e
I Fruit Set

40 Anthesis

20 A

udding

.-
:
____________________________._I____________

60 80 100 120 140 160 180
Days After Transplant



Days After Budding

XX6 TsN5 (plot by DAT)
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Days After Budding

XX6 TsN6 (plot by DAT)
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XX6 (plot by adjDAT)
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Days After Budding

XX6 TsN1 (plot by adjDAT)
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Days After Budding

XX6 TsN2 (plot by adjDAT)
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Days After Budding

XX6 TsN3 (plot by adjDAT)
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Days After Budding

XX6 TsN4 (plot by adjDAT)
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Days After Budding

XX6 TsN5 (plot by adjDAT)
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Days After Budding

XX6 TsN6 (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision

20 A 30 +
—— T 900 —— PATG_C1
—— Tdew 28 —— PATG_C2
51— 7
26 800 -
10 + 24 4 700
22 600
5 .
20 T 500 -
0 A |
A — optT1 400 +
5 16 4+ —— optT2 300
0 5 10 15 20 0 5 10 15 20
hr hr
i 60
20.0 — T —— OoptRH1
17.5 —o— T | 507 —— optRH2 800 1
15.0 - 401 700 A
30 +
12.5 N 600 -
20 +
10.0 + 500
10 -
7.5 4
0 400 ~
5.0 A
T T T T T -10 | T T T T T 300 L T T T T T
0 5 10 15 20 0 5 10 15 20 8 10 12 14 16

hr

- —
-
-
@)

hr
80 -
500 - ‘/_/——~—\/_ 900 - —— PAVT C1
60 - ——  PAVT C2
400 800 —e— C
40 -
700 -
300 1 201 — warRH1 /\
—— warRH2 600 -

200 - 01 V\
500 -

-20
100 -
_40_ 400_
o_ T T T T T -60 T T T T T 300_ T T T T T
0 5 10 15 20 0 5 10 15 20 8 10 12 14 16
hr hr hr
] A A —— PATG T1 —— PATG P1
1.0 _ _
25 —— PATG_T2 1000 1 —— PATG_P2
0.8 - —— T o P
800 -
20
0.6 -
600 -
0.4 15 1
400 -
—— optVPD
0.2 - R s
Ie.afVPD 10 200 4
— airVPD
0-0 T T T T T T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
] —— PATS_T1
70 - |
25 —— PATS_T2 1000
- T
60 1 800 A
20
600 -
50
15
400 -
71— e 109 200 -
—— RHo
0 5 10 15 20 0 5 10 15 20
1000
800 -
600 -
400 -
200 -

8 10 12 14 16
hr




102 - —
108 -
114 -
120 -
126 -
132 -
138 -

40

- 20

--20

-40



